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Geometry Chapter 5 Review

Determine whether the given measures can be the lengths of the sides of a triangle. Write yes or no and

explain. , o
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Use the diagram.

3. Name a median.

4. Name an angle bisector.

5. Name an altitude.
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6. Name a perpendicular bisector 6. & ar W
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Use the diagram.
“ Grex ¥ 8. ZC is an altitudemdWZC =13x XCYW =5x+18. Find mZWZC .
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g 9. XWisan angle bisector. LWZX =8x+19, LXWZ =89, and v
v LZXW =6x—-12.Find mZWXY - VA s 84 ALK S el
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10. If point G is the centroid of a4ABC and AE =24, and DG =5, and 10 | &
CG =14, find DB. C . .

11, Determine the relationéhip between the lengths of UD and YS. 1. Up £ 58
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12. Determine the relationship between the measures of ZEQU and ZAEQ. 12. (/. EOQ Y 7 o 2 ;‘\&:{;{
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16. Draw in the shortest distance between P to NT'
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17. Write and solve an inequality to find x. 7. 7 4
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19. If two sides of a triangle are 24 meters long and 29 meters long, then 19 5 < s & SR
the third side must have a length between what two measures?
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20. Lines s, ¢, and u are perpendicular bisectors of a#GH and meet at J. If
JG=4x+4, JH=3y—-4, H =4z-3 and JF =8, find x, y, and z,
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21. The vertices of aLMN are L(1, 3), M(4, 0) and N(-4, ).
a. Graph the triangle.
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b. LG is a median of the triangle. What are the coordinates of point G? b, / o, )
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¢. Graph median LG on the same graph.




